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Past Exam Questions

Sections 4.2 & 4.3
1. Find the domain of the function 
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Answer: 
[image: image2.wmf](

)

(

)

,52,

-¥-¥

U


2. Let 
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(a) Find the x-intercept of f.

(b) Find the y-intercept of f. 
(c) Find the asymptote of f. 
(d) Sketch the graph of f. 
Answers: 
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3. (a) Change the equation  
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  to its exponential form.
(b) Change the equation  
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Answer: 
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4. Find the domain of the logarithmic function 
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Answer: 
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5. Consider the function 
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(a) Find the domain of the function in interval notation.

(b) Find the x-intercepts, if any.
(c) Find the y-intercepts, if any.
Answer: 
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6. The domain, in interval notation, of the function 
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Answer: 
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7. The graph of 
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Answer: 
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8. If  f  is an exponential function of the form 
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Answer: 
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9. The graph of the function 
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Answer: 
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10. The graph of the function 
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Answer: 
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11. The graph of the function 
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 lies below the x-axis on the interval 
Answer: 
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12.  If  
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Answer: 
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13. The domain, in interval notation, of the function 
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